6=0.9

0=0.6

6=03

6=-0.3

-0.6

6=-0.9

Covarge Width SL.L SL.U
\! / » A1/ 1\ o w27
_ [ LY/ X
I =) |
<77
« k |
2 ] S
Az N\
- — U
tvnz | VN U\ |

) i\ -\
< \V\ 3
‘V R N N\ )

N

4 N >,

\\ — i 7] J4al
DR 7 . oy N 7/
) > A y 4 A N
{ <} i ({ |
PR QA A
{ N7 1 i VA
\ . !
) NN TN )

/ S VAN 4 NI\
7 e Y. RN NN
7 e \\ xw /,v i
\ \\
S N, |
ﬁ ~ — 7 1IN\ l /l
- 7 1 NI |
e AN N
/ LK J
Se d
o
N P
AN Y ~ 7 ||
L 7 N\ X
yd )
7 7
V. S <
~ \ IV AN\ §
e & & 8 &9 T 2 o - 8 S S 8 18 =t a8 S
4 © o o o ° ° ° ° =° S S S S o oS S S
alnsea\ aouewWIouad

-05 0.0 05 -05 0.0 05 -05 0.0 05 -05 0.0 05 -05 0.0 05

-05 0.0 05

—— ASY —— NORM-FDBC —— NORMB-SBC —— PERC-FDBC

Method

—— PERC —— PERC-SBC

—— BCa —— NORMB



